W e e R e R P e o i e e TR

WAME | ODOGWU PAUL CHIDoz E
WATRIC NO.. 15/ENGO%/039

W AssigumeaT 3 | I
[ﬂ@,@nﬁagancﬁ_ ptalm{na im\m(»/a.c. the ibem i sakion af;‘acé-?ans to be 4aken 1o Z_m,_,@,,imﬁn, A
_balance supply-demand eguation - TR DR CIEE T\,

cat

()0 Exctabion conmrol. e
___(,_-ﬁ,&oagtdﬁnd transformens A 28 s b

(1) Line Reackance Compensedbers L A DIV
,__Qv)ﬁeaétiva power SinKS_or Soyrces B S -
M@%ﬁﬁm&ﬁ&m y limit 15 the maxmum fou/ef that can be transmited do the
J@Ce;vfné)_ ond wothout loss oﬁ ‘Sjndu*omkm- A S e e = SR
D E) Inorease in system voL't'aae B AL T X -2
() Reduckion in transfor Reackance 25 el

T —————————————— B - - —

©)C) = Pre-poults conditon ; | CURUTRTE S—
ke K (j[o‘zs + 016+ 02 4 0:lh + 0:1p ] = 0172 pu
2

S P lti(-.v g § =__I,:Z~;,;Z_!,Sjn.5- Y334 Sta S
I : SIS

f— — —_— —

M

= 1'334 sin S!L,

L 5= iy (,,1__) , , b
ST AR X N SN , . il

b foz 3520 I 042 rad

W Dum\afzwz(nk : —
v Since fouldh occurs ok one end of the line,
ko Lo =00



:_Eost —faudts S -
X = 028 + g-14 + 0:24 + odh + 016 = 1:0pu

Pe cl'ZSX’ ' = ' '
m _—T\hg - /zssné/

= 128 gsin Sa

]

So = SM"(_[__)
1:¢2.5

5

o= 0+ 22% rad

bei ool il J‘ | 1: . ] iu,.“

Per = 1+ 2366in g
Perr = 0
Peﬂ = I'Z‘ESI-VIS

fe

gl s =3 )
// -1
T Y WSy e Pt
/1 /4&//,
—— S S AT
m= | |

'/' \
f/&/ |
03 y o

Maximum  Smax for A1 = Az is given b
_ gy
gmwx = I éo

For A ;
.gmatx = 7\ = 50
= = 042
s £:53

e —— S —



e P it - 2
Ao PolBer-80)

___,_____L(_Sar 0 ALl__ - o
=z ber-047

f@”ﬁ(hmfi V4SS
ﬂ___iw ) gl
2 (3mex (1175 5ia§ 1) 4§ -
}Sor R o\

('gmax -ILSS"?£J£ = Sma,xy JS ;-»
/ Ser

BT TS EY S ol Y s

"1 25 Cc’,S (éwmfx & éu‘) (‘gmgx_: gcg)*"_“_ - - A
__Lﬂﬂa for Az, Smax = 2 2’] : R L 0% = YA

Aj.a—l%Cos(Z 21) b 1028 Cas B = 200 4 Sel
07457 + 1128 Cos Ser - 2:21 4 Sa 4 A ,,,__,_.v_.;__
1425 cas SCr + g;r — oy b N I e ol Y7

AN

1\

P Moyt Y -
— ;3/ -~ 062 = |t 25 cos £cr + % -/ Yiu __,__'___,4___;_,1___.,
o Cos Ko = | Hb4-0fg = 0-844 = 044252 ... =
1098 _.,1.,_25 L s e

e — ———————

-_____,__SCr z Co,s"[_o A}ﬂ_)_ %+, 5_.3 0 8176.19/_,-._“;_;




C@I@)C) Steady stute
b C‘B _’?J'zwn"c State
C') rans et Sbede
-‘“> 04
i o5l 0 b
04
0:25
) Ng = [Ne| 2 < = ) £
— fe = /Vf'l\/l Sin &<
R X
e bz R Gy 5
(0:25 +0:1)
Cin X = 0‘35

o< = Sin-! (085) = 20°5°

Cuwrrent inbo inginte bus
T-[wlg o = vlco
X
= L 20/ — }_1_*0
T joe3s
Recall A £ B = Altosf + jsinf)
I LL@SZWS t45m20$1-—!

J
1 0le £ Jo 21°

I+J0d3

A\

-
-
——



/EJ behind transieatr X
V{LO 3 I O L S S e |
)(,z_o 25 + 01 + o&gdo_&zj]_, s L e el
o K
': lz.o +do +33(/+Jo /8)
,_,_,_.:,,J_: 0:0867% + 10485 — S
=03+ 01453

= 1038 L7788 e e

(i) Whan ane Lne 35 s bortal

3 >
¥
|
|
|
|
\

015 0]

- 7r__..(71771__./‘fn7) __

3

K

sna__Sfar - Delta Conversion e
Xiz= 035 (02) + 0:35(0:2) + 0:2(0:2) y oo 2
02
e (g a. )

Bz BV s 25 z;s_ ) Sk = e
: R Y
Priax = 11148 f




